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i 100kN/mM%Z#B% % - -~ - -|3m%E#EZ S -~ - - -] 100kN/ Mm%z 5 - -~ - ~-|3m%Ei#B2 5 -~ - - -
ZHLUS 1.00 | 000 ~ 6.90 87.39 | hLlst | 0.00 ~ 0.00]| 1.75 8.83 ZHLS 100| 500 ~ 850 87.39 | #hLlst | 500 ~ 850| 1.75 8.83
9 100kN/mM#Z#B% % - -~ - -|3m%E#EZ S -~ - - -] 100kN/ Mm%z 5 - -~ - ~-|3m%Ei#B2 5 -~ - - -
Zh Lot 100|000 ~ 558 69.62 | Zhuls | 0.00 ~ 558 | 2.00 10.09 ZHLS 100| 500 ~ 700 69.62 | #hLlst | 500 ~ 7.00| 2.00 10.09
3 100kN/m%Z#BZ % - -~ - -|13m%i#Bz2% -~ - - -| 100kN/mM%E#Z% - -~ - -|3m%z#Bz% -~ - - -
Zh st 100|000 ~ 6.02 75.39 | #hLis [ 000 ~ 0.00| 1.76 8.90 ZHLS 1.00| 500 ~ 6.86 75.39 | #hbLls | 500 ~ 6.86| 1.76 8.90
4 100kN/mM%Z#BZ % - -~ - -|13m%i#Bz% -~ - - -] 100kN/mM%E#Z% - -~ - -|3m%z#Bz% -~ - - -
Zh st 1.00| 000 ~ 412 51.56 | Zhuls | 0.00 ~ 412 ] 210 10.63 ZHLS 1.00| 500 ~ 533 51.56 | #hLlst | 500 ~ 533 | 2.10 10.63
5 100kN/mM%Z#BZ % - -~ - -|13m%zi#Bz% -~ - - -| 100kN/mM%E#Z% - -~ - -|3m%z#Bz% -~ - - -
Zh Lot 1.00] 000 ~ 3.05 3920 | #h st [ 000 ~ 3.05| 2.34 11.85 ZHLS 100 | 500 ~ 522 39.20 | #hLlst | 500 ~ 522| 2.34 11.85
6 100kN/mM%Z#BZ % - -~ - -|13m%i#Bz% -~ - - -] 100kN/mM%E#Z % - -~ - -|3m%z#Bz% -~ - - -
ZHUS 100|000 ~ 562 70.26 | #h st [ 000 ~ 562 | 1.85 9.34 ZHLS 100 | 500 ~ 6.39 70.26 | #hbLls | 500 ~ 6.39| 1.85 9.34
7 100kN/mM%Z#BZ % - -~ - -|13m%i#Bz% -~ - - -] 100kN/mM%E#Z% - -~ - -|3m%z#Bz% -~ - - -
ZnLs 1.00 1 0.00 ~ 6.28 7894 | ZhList | 000 ~ 6.28 | 1.87 9.44 znLst 1.00| 500 ~ 7.56 7894 | #hlist | 500 ~ 756 | 1.87 9.44
8 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%E#Z% - -~ - -|3m%EiBZS -~ - - -
ZnLs 1.00 1 0.00 ~ 5.66 7067 | #h Ll | 000 ~ 566 | 1.92 9.69 znLst 1.00] 500 ~ 6.70 7067 | #nllst | 500 ~ 6.70| 1.92 9.69
9 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%E# %% - -~ - -|3m%EiBZS -~ - - -
ZnLs 1.00 | 0.00 ~ 6.56 82.67 | Zxnll4 | 000 ~ 0.00| 1.69 8.55 znLst 1.00] 500 ~ 7.90 82.67 | x4t | 500 ~ 790 | 1.69 8.55
10 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%E#Z% - -~ - -|3m%EiBZS -~ - - -
ZnLs 1.00 ] 000 ~ 6.27 78.77 | #hList | 000 ~ 0.00| 1.78 8.98 ZznLst 1.00| 500 ~ 7.31 7877 | #nllst | 500 ~ 731 | 1.78 8.98
11 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%E#Z% - -~ - -|3m%EiBZS -~ - - -
ZnLs 1.00 1 000 ~ 749 95.79 | #nkist [ 000 ~ 749 | 2.08 10.54 znLst 1.00 | 500 ~ 10.00 95.79 | #xnLl4t | 5.00 ~ 10.00 | 2.08 10.54
12 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%E#Z% - -~ - -|3m%EiBZS -~ - - -
s 1.00 1 000 ~ 5.76 7201 | #h L4t | 000 ~ 576 | 1.85 9.33 ZznLst 1.00] 500 ~ 6.60 7201 | Zhbllst | 500 ~ 660 | 1.85 9.33
13 100kN/m#%#BZ % - -~ - —-|3mZEEZS -~ - - —| 100kN/M%# x5 - -~ - -|3m%iBAS -~ - - -
s 1.00 ] 000 ~ 5097 7477 | FhLlst | 000 ~ 0.00| 1.66 8.38 ZznLst 1.00 | 500 ~ 6.91 7477 | Fnllst | 500 ~ 691 | 1.66 8.38
14 100kN/m#%#BZ % - -~ - —-|3mZEEZD -~ - - —| 100kN/M%# x5 - -~ - -|3m%iBAS -~ - - -
s 1.00 1 0.00 ~ 469 5846 | #nlist | 000 ~ 469 | 1.83 9.24 ZznLst 1.00] 500 ~ 5.00 5846 | zxnL4t | 5.00 ~ 500 1.83 9.24
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZH LS ~ LS ~ FNLS ~ oY) ~




